2R E BTN 2E D TR EEA

(BAL : F1)
BE B 5) Sl & At
(R E] & T DR/ ITH54R) (E %) (WA 3 8+ [T L 23 50)
0 165, 117 165, 117
2 B MR Z A 57 0 165, 117 165, 117
5 B BN 0 0 0
(5 BRI 0 0 0




5 2 EEREARER2 SHERER

(BB FM)
%3 E % 3 2 | 2R{EE=Z
&S =R OF X2 B O #®| B 5 #©
CBIRBIE 281 ) 156,376 8,741
D-19 | #TBFKHEES X (TR RIEIREX) 77,250 0
D-20 | AP EEECERIIaL—2a v EDFERESE) 79,126 8,741
Bt 156,376 8,741




(FR 245 )

ERZMRiR? SHERTFRRETH)

£ 20

(BHL:FH)
ZHHESER
s, w5 | B0 |onsiben %20
: 5 ; ; TR BEEL 548 &%
842 mETHE | FEES E EREES o RHEE | B S sig  [THIGWER DEAE | maw Bn
R ey (E3) )
Cram

FxR 18 D - 10 |l R I (R LB ) BRBE) miE 1/2 103,000 103,000 0 77,250 77,250
FEE e D - 20 [|EHKHRaHESEGIEETS) A KRB GRS I1L—La  EDHEETS) ﬁ:z’ﬁiﬁﬁﬁ il [EE: 1/2 101,302 101,302 0 75,976 75,976
FRR 18 D - 20 [|EhNeARESEEEENESES BEWSHEERR R L SoHERES) [f s B0 | miE 1/3 4725 4725 0 3,150 3,150
FxER 18 D - 20 |EHEsEsSUMABREHEEE S B GBS L — A SO ERES) |E L 5 Fﬁ HiE 45 10927 10927 0 8,741 8,741

X




